

Republic of the Philippines

VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: PPMP-2025-100924-0766

PR No.: **STF-2025-02-00170**

Date: 02-11-2025

Dept./Office: CN

Category: Books & Library

Materials

Section/End-User: Guada Fe D. Amihan
Funding Source: Special Trust Fund

Project Title/Code: CoN Procurement 2025 BOOKS

em #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Clinical Nursing Skills and Techniques 10th Edition	pcs	2	4,500.00	AND THE STREET OF THE STREET STREET, STREET STREET, STREET STREET, STR	9,000.00
	Specification:					
	10th edition					
	year published: 2021					
	Community and Public Health					
2	Nursing, Philippine Edition 2nd	pcs	2	2,200.00		4,400.00
	Edition Specification:					
	Specification.					
	2nd edition					
	year published: 2020					
						· ·
3	Essentials of Anatomy and Physiology 11th Edition	pcs	2	4,300.00		8,600.00
	Specification:					
	11th edition					
	year published: 2022					
	I=					
4	Ethics of Health Care: A Guide for Clinical Practice 4th Edition	pcs	2	1,000.00		2,000.00
	Specification:					
	4th edition					
	year published: 2018					
	Eastern Museing Dharman Issue	ı T				
5	Focus on Nursing Pharmacology 9th Edition	pcs	2	8,000.00		16,000.00
	Specification:					
	9th edition					
	an edition					

6	Fundamentals of Nursing 11th Edition	pcs	2	3,500.00	7,000.00		
	Specification:						
	11th edition						
	year published: 2021						
7	Gerontologic Nursing 6th Edition	pcs	2	2,000.00	4,000.0		
	Specification:						
	6th edition						
	year published: 2019						
3	Maternal and Child Health Nursing 9th Edition	pcs	2	4,000.00	8,000.0		
	Specification:						
	9th edition						
	year published: 2023						
_	Medical-Surgical Nursing 15th	pcs	2	4,500.00	9,000.		
9	Edition						
9	Edition Specification:	11					
9	Specification:						
9	Specification: 1th edition						
9	Specification:						
	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of	ncs	2	3,500.00	7,000.		
	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of	pcs	2	3,500.00	7,000.		
	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing	pcs	2	3,500.00	7,000.		
10	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition	pcs	2	3,500.00	7,000.		
	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition Specification: 5th edition	pcs	2	3,500.00	7,000.		
	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition Specification: 5th edition year published: 2019	pcs	2	3,500.00	7,000.		
10	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition Specification: 5th edition year published: 2019 Nurse's Pocket Guide: Diagnoses,	pcs	2	1,600.00	7,000.		
	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition Specification: 5th edition year published: 2019 Nurse's Pocket Guide: Diagnoses, Prioritized Interventions and						
10	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition Specification: 5th edition year published: 2019 Nurse's Pocket Guide: Diagnoses, Prioritized Interventions and Rationales 16th Edition Specification:						
10	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition Specification: 5th edition year published: 2019 Nurse's Pocket Guide: Diagnoses, Prioritized Interventions and Rationales 16th Edition Specification: 16th edition						
10	Specification: 1th edition year published: 2022 Nurse as Educator: Principles of Teaching and Learning of Nursing Practice 5th Edition Specification: 5th edition year published: 2019 Nurse's Pocket Guide: Diagnoses, Prioritized Interventions and Rationales 16th Edition Specification:						

	year published: 2025				
13	Nursing Care of Infants and Children 12th Edition	pcs	2	4,000.00	8,000
	Specification:				0,000
	12th edition				
	year published: 2024				
14	Nursing Diagnosis Handbook 12th Edition	pcs	2	3,000.00	0.000
	Specification:			-,	6,000
	12th edition				
	Veer wildlich is deep				
	year published: 2022				
5	Nursing Guide to Physical Examination and History Taking				
	3rd Edition	pcs	2	2,600.00	5,200.
	Specification:				
	3rd edition				
	year published: 2022				
6	Nursing Management Towards Quality Care 4th Edition	pcs	2	1,000.00	
					1 2 000
	Specification:			1,500.00	2,000.
Ş				1,000.00	2,000.
,	Specification: 4th Edition			1,000.00	2,000.
,	Specification:			1,000.00	2,000.
•	Specification: 4th Edition			1,000.00	2,000.
, 1	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing				2,000.
, 1	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition	pcs	2	4,000.00	
,	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition pecification:	pcs	2		
,	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition	pcs	2		
,	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition pecification:	pcs	2		
, F	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition specification: 9th edition year published: 2021	pcs	2		
3 3	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition pecification: 9th edition year published: 2021 Intritional Foundations and Elinical Applications: A Nursing	pcs	2		8,000.0
,	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition specification: 9th edition year published: 2021 Intritional Foundations and Clinical Applications: A Nursing spproach 8th Edition	•		4,000.00	8,000.0
S	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition specification: 9th edition year published: 2021 Intritional Foundations and Elinical Applications: A Nursing approach 8th Edition pecification:	•		4,000.00	8,000.0
S	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition specification: 9th edition year published: 2021 Intritional Foundations and Clinical Applications: A Nursing spproach 8th Edition	•		4,000.00	8,000.0
S S S	Specification: 4th Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition specification: 9th edition year published: 2021 Intritional Foundations and Elinical Applications: A Nursing approach 8th Edition pecification:	•		4,000.00	8,000.0
S S S S S	Ath Edition year published: 2004 author: deceased Nutrition Essentials for Nursing Practice 9th Edition pecification: Oth edition year published: 2021 Intritional Foundations and Elinical Applications: A Nursing approach 8th Edition pecification: oth edition perification: oth edition	•		4,000.00	

1	0th Edition					
У	rear published: 2012					
a	author: deceased					
20 E	rofessional Nursing Practice, thics and Jurisprudence 1st dition	pcs	2	1,000.00		2,000.00
S	pecification:					
1	st edition					
y.	ear published: 2023					
21 P	sychiatric Mental Health Nursing	pcs	2	4,500.00		9,000.00
Sp	pecification:	1				
91	th edition					
V	ear published: 2023					
	published. 2020					
	TOTAL					132,400.00
Purpos	se: CoN Procurement 2025 BOOKS	for CoN	students guid	le to be placed in our	Readers Nook	
Checke				Funds Availab		
						, ad.
	TWG - Books & Library M	latoriale			ALICIA M FLORES	an minering pa
	Prepared by:		oted by:		HEAD, BUDGET OFF	CEUNION
Signatuı	188///48184//181140			leti	J. Or	for John
Printed I		1	CHRIST	AN VIE P. BALDON	ADO PROSE	
Designa	tion:		UNIT HE	AD, PROJECT LEAD	DER PRES	SIDENT VSU MU